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Krok 1.

F���	
	�������	=�
	-	��;��	��1		�p?	��
=�4	R(wp) oraz tymczasowej r(wp)	�
�
4��
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��	56	 ����;	 27	 C	��;��	��	 �
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�4�
�	�����	�����	2��o�	56

0 dla
( )

dla

p

p

w w
R w

w w

=⎧⎪= ⎨∞ ≠⎪⎩
(1a)

0 dla
( )

dla

p

p

w w
r w

w w

=⎧⎪= ⎨∞ ≠⎪⎩
(1b)

Dla wszystki��	�������	=���	-���4
�4�
�	�
��	56	�����	-	
	������4	θ(w)	����;	2

( ) 0 dla 'w w Wθ = ∈ (2)

A
�		�������	=��	M	��
���		���
0	��N w*	-���4
�4�
�	�������	=��	-	��;��	��, czyli
w* = wp.

Krok 2.

�0
	�
9��1		�������	=�
	w -���0�1=�1		�		�������	=�
	w* i dla któ��1		����
	��
=

R(w)	���	��	�����	2��	�	56�	�-�
���

�	���

*( ) ( *) w wr w R w c> + (3)

A�9�0�	-	��9��
	�������	56	4���	�-�=��	�
�	�	?

I 
���
0���4�
�	�
��	56	�����	��
��
�	��4

*( ) ( *) w wr w R w c= + :G<

I 
���
0���4�
�	�
��	56	�����	-	
	������4	θ:�<�	����
	

	/�6	����
	�
��	5��	�����
-	
	������4	 θ:��<	 �������	=�
	 M	��
���		 ���
0	��1	N	 -	��3���	��4	 		 �
��	56
M	������
��
N	����
��	�;	�0
	��1		-	=;�����
�	���0�

*( ) ( *) max(0, ( ) ( *) ( *))w ww w c R w wθ = θ + τ − − θ :3<

Krok 3.

>-	5���	����������	�������	=����	�0
	�������	����
	��
=
	R(w) wynos�	�����	2��	�
�	56�	��/���

�	�������	=��	wz o najmniejszej cesze tymczasowej

'
( ) min ( ) ( )z z

w W
w w r w r w R w

∈
= ⇔ = ∧ = ∞ (6)



!01	���
�	����
��
��
	���1	��
��-	���	�	-�	/0�
��	�����1	�
��
	�
�
2777 ���

4��
0

�	�
��	56	�����	��
=�4	��1		�������	=�
	�
	�
��	56	����;	4�1		�����	��mcza-
sowej

( ) ( )z zR w r w= (7)
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�	����
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czyli

w* = wz.
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Krok 1.
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=�4	R:wp< oraz tymczasowej r:wp< nadaje-
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( ) 0 dla 'w w Wθ = ∈ (9)

A
�		�������	=��	M	��
���		���
0	��N w* -���4
�4�
�	�������	=��	-	��;��	��, czyli
w* = wp.

Krok 2.

�0
	�
9��1		�������	=�
	w -���0�1=�1		�		�������	=�
	w*	�	�0
	�����1		����
	��
=

R(w) ���	��	�����	2��	�	56�	�-�
���

�	���

( )* *( ) ( *) max 0, ( ) ( *)w w w wr w R w c c R w> + + τ − (10)

A�9�0�	-	��9��
	�������	56	4���	�-�=��	�
�	�	?

I 
���
0���4�
�	�
��	56	�����	��
��
�	��4

( )* *( ) ( *) max 0, ( ) ( *)w w w wr w R w c c R w= + + τ − :��<

I 
���
0���4�
�	�
��	56	�����	-	
	������4	θ����	����
	4���	����
	�
��	5��	�����	-	�

	������4 θ:�6<	�������	=�
	M	��
���		���
0	��1	N�	-	��3���	��4			�
��	56	����
�

��	�;	�0
	��1		-	=;�����
�	���0�

*( ) ( *) max(0, ( ) ( *))w ww w c R wθ = θ + τ − :�.<

Krok 3.

>-	5���	����������	�������	=����	�0
	�������	����
	��
=
 R(w) ���	��	�����	2��	�
�	56�	�y/���

�	�������	=��	�z o najmniejszej cesze tymczasowej

'
( ) min ( ) ( )z z

w W
w w r w r w R w

∈
= ⇔ = ∧ = ∞ (13)
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0

�	�
��	56	�����	��
=�4	��1		�������	=�
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��	56	����;	4�1		�����	��
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�	��4

( ) ( )z zR w r w= (14)
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w* = wz.
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